1. s 8@l gdeiei Gelgel M FYdi gl ARy 2.
o UARRHAHL SOl glas
2. walkid cvnfia sA : WA via
o HIY 2 glasMl Al S5 s esdl Hiadl dva A sa Hiadl Avai-l it vl v

58 6.

g2sell dla-{l Avyl
ol BeslAl didxl s vl
Gelsasl ddly, s [g2ioll (sl o Al Hie v 2 Bell Hiel v 2Adsi n, 2 ng Gl dl
AL Hld el @Al Bell Ml vial x, wA xp A9

Hesl Hid »igl =

=

LT g
Xy = ——— ;Xg= .
ny + ng Iip + g
HUIUEL GlAGHL UL HHY HesiAl Hld 29l MRAWL 1 41y 9.

3. vkl eivnfia s : Naladl
o WABE] s Belaum glasHi Al gl Hiddl dud Hiaddl se 6.

glod-l Hid

lewfad m) = kg

4, wilkaa uvaifid s : MNailRél

-

o Wa(zEA (M) : o2is [BeR alamMl ofel gttt Mladl dvaid Hlal@dl se 9.

gled- Ml
slaely s ([Rer)

nazé M) =

5. wafaa euuailfia sA : en esiadl
gt 2513l (wiw %) @ 100 M gldRHl WAL sl QL sadl esiaudl s 8.

LSLBLHLEE 57 e
SLASHLASSTER 00

H2seil Uil % = .
° T glaad ga sul

6. 2 M ARl EAAi YU diiel daRapii A B AM uaichi WMV gl Adlei aqel érIA B ?

iy 4+ Yl AAE Ay AH = —ve
gy oing o GwpEus uEAL 8. % dluHd dHRAHl e dl dgad wlasudl [Baumi wom afl .
yReud ay-dl Hadlui sl we 9.
7. ol Asui A2l iAcll UsRel Jiidmedla susdeila uRAURsAL (Vtid(Ba1) wad :
(i) n-&siel VA n-INsal
(i) I, 219 CCl,
(iii) NaClO, 219 ueil
(iv) B1Acda i ARt
(v) ARdeusgisa (CH4CN) 21 (C3HG0)

i (i) @t oo
(i) @t o
(iii) >ua- [egdly 2idl5a
(iv) @idz »ulegy H oy
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12.

(v) [esa-lega »idzlza

datett wieflol As ool viot ¥ viRict A saiASH (CHCL,) a3 igfia 23l veudl 8 ¥ scvex
arapii Rl B. Aguels] a2 (wer) 15 ppm (enell) veri d.

(i) sua emell esiaRlHi eafal.

(i) wellotl opyointi saiAsBcl Nal@ll «iss) s

CHCl3 1, £ y

(i) CHClyml gnell % = . 100
slaeld, £ul
15.0 UM
= Gixl()o
10° 201y,
=15x 103 %
" CHCl3 1 =@ 15 1000
(i) m = ; = T .- X 5
wg MR x yelld e~ 1195 10
=1.25x 104

sucsleld v uellell giaepii viedla uruBRs Bau 2 el o1vd B ?

vlesisla 2 uslldl 2192l a2l H oy »Raca 4ud 8. wu suesield s welld fa s2ami »ud 9.
AR Adl H et suesiela i uelldl 219l a2l o4 89 uid 21 H oladl uaadl »is % usiz-l »192il
a2l H old $3dl 2iedl a9, 2uell 240 glae Bl Ruxell anfquad safld . % glao-l syl
eIl 5% 89 A GesarlBigHl dalil 52 9.

6.56 x 1073 g #dct &Riadl sideld Vs clrugciier gideiell Buz 1 bar 8. A gidet 5.00 x 1072 g 8dal
ariad &N, dl arlei vilds eoner Sed A ?

del-l A ywol,

GlaRMl Holdd Ay A o i[hs eolw
6.56 x 1073 WH o 1 @R
6.56 x 1073 M = Ky x 1 R
5.00 x 1072 aM = Ky x p

K, = 6.56 x 1072
1
« 5.00 x 1072
H = p
6.56 x 1072 5.00 x 107
1 B p
p = 0.762 4R
weilei cirugouer 300 K aneiial 12.3 kPa 8. dett siciweila giicll 1 Hldd glaer 412 Gimigsiier el
N 1060
wie(ldl Hla = F = 55.55

gleasl Mg, = 1

= . 1
aled-Al HIE i) = 145555 — 0.0177

0 —_—
ey P UPs - x,
p
12.3 - p,
123 = 0.0177
w p, = 12.08 kPa

300K aneiial 36 g 2d4shy &ériadl dell gldelei silérizel goner 4.98 bar 8. A d ¥ anua S\d
slaeiei diférRizer goner 1.52 bar &la dl dell Aiganl Sedl &A ?
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T =300 K

T = 1.52 olx

R =0.08314 oux [dezHia dlean
. = CRT

o C= LR 0.061

0.08314 x 300
glRl-glds URMUBS (SAlcl AR ofldciial AHoll N-WSSolHi glidicll A2dl SHHI 2D5A Vial AHVA).

ArRIsAEsNe, KCl, CH;0H, CH;CN
(i) AAsAIESAL 2 n-vlse oid wydld . dell d el sidusl Wl Ayeiusl B 2 79y 9.
(ii) KCI L udi-ls A4l 9 uid n-»ise vt »igdly @, ddl KCl 21 n-»lis24di gl a1y -l
(iii) CH;OH 21l CH4CN 6id gela 8 u3g CH3OH $di CH3CN i 2ligg Yollu &, n-»ilsent »
2gelly glael CHyCN 31 CH,0H sl ay gdlla ©.
glediddl 53 : KCl < CH40H < CH4CN < 01456lé 50

A Sl wdarent wielldll ol 1.25g mL! a1 219 A 92g Na* ula Bl well aguad &2, d
AAdzoll ueilii Nat diriciell Mail@él arel.
Na*t »id-- Hie
glast A%
B
T 1x23
= 4 Hla/kg
=4m

Nat sl sleanfadl =

A CuS o gicudl deusr 6 x 10716 Qla, A CuS ofl wcla glaepii Head NaRél s1el.

CuS Ul Cu?+cu?

[s] (8]
K, = [Cu™] [$77]
=55
= §2
6 x 10716 = §?

S = J6x10716

$=245x 108 M
6.5 g AR (CyHg0,), 450 g CH,CN #i sducapii a1d, d ARIRecl dARidensgisani cnail
esiaidl el
wldlAd e0= 6.5 M
vif2ludadd e = 450 AH
gldlld 4% = (6.5 + 450) = 456.5 AH

6.5
456.5

250 mL 0.15M Qonlus ?J\iﬁngi; (1AcllaMi gldel Gicllddl HIZoll w22l (d¥ol) lell.

el % = x 100 = 1.424 %

HlaRé = 0.15 M
glavld, s& = 250 ml = 0.25 [&ez
glodsil YR = 122 Hld

gledd, 841
MYz x 58 ([M22)

M =

0.15= 155> 0.25
w =015 x 122 x 0.25
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= 4575 a4
298 K amial Qllc¥ei Fidoioll Maul@dl w2 3ol rRAnisef e 4.27 x 10° mm Hg 8. 760 mm
eonel dsm 298 K aviad [idcicll QlFicdi gl a1en.

p=Ky-x o, Ky =4.27x 10°mm Hg

Lx= P p = 760 mm
Ky
760
= ————— =178 x 1073
(4.27 x 10°)

sal gen argdile Fister 8. 298 K ansial v €2s) ifSuvel 31l oliglvele] @210 wHiel seall diogs
20% 1a 79% 8. 10 atm eoud wieil sar A Agaorii B. ol i VrANES NiEAYVe A BV
2 298 K dmdiq dgsd 3.30 x 107 mm a1a 6.51 x 107 mm &1, dl weibii au arpile Aeze
(uIen) d1ei.

AilBuy 2 udgiord 2ilfs coum :

20

P02:10x m =2dldl = 2 x 760 mm
P, =10 x XS =79 dldl = 79 x 760 mm
Np 100 B
IFUTA 23 uSgior il daed

Po., 2 x 760 mm -
X0, = Ky ~ 330 x10° mm - +6x 10

PN, 7.9 x 760 mm

= - T 7 . =922x10°

Ny T Ky~ 6.51x10° mm
27°C diHial 0.75 atm diféiRel eciel €21 Aal sI@REM sARIFSHL gidel Hi2 2.5 (@G22 welsi giael
oictiac Hi2 CaCl, (i = 2.47)ell w22l (avet) oissl 53

. i wRT sy, i = 2.47, T = 300K
- MV T =075 ad., V=25 [@23
M x V -
w= 22XV XY [ g g0821 [z el /4L [
ixRxT

M = 111 suH/Hla

0.75 x 111 x 2.5[4ez
2.47 % 0.0821 x 300

= 3.42 AH
25°C dreial 2 (@22 weilti 25mg K,SO, 2ioudila clolidal glaeled siférRizel ecnel cissl s, aél
K,S0, o 2iyel [Glvet 212 8 A andl Al

wul, welldl aie K,80, = 25 mg = 0.025 3
glaad st = 2 (423, T = 298K
K,SO, 4 »geu2 = 174 AmpMia
K,80, — 2K* + SO;?
Baiomdl Hadl e 2udd 3 elal i = 3
i wRT
MV
3% 0.025 x 0.0821 x 298

= 174 % 2
= 5.27 x 1073 dldlaz@




22,  gldel - udAlucll vl M. S2dl USIcll gldel Gicll 25 ® ? gsHi €3s [aA Geaszel AA dvi.

o oglas oMol [Baemi ¥ Hes il amd wmiadl ¢l d oglas dild sioeu 9.
gl oglds [Renddl s wUdl Qi H2sl ¥ GlAQMHl el ld 9, dUd s s 6.
o glad ol 5 dell ay usieldl ss3u Bamd glan s 0.

gl UsR| sl | slds Gelsl

AyHd glamt| aly | oay | ilsHed s Aasgiee
Ayl Buas

natl | oy | Ausziot Ay uE (e
53 sAlUSIH

B | oAy, | gl Ml sYR

gl grastt | oAy | ueudl | welHi siod quad 205

natdl | ualdl | wwlldi e wde Sadia

g | naldl | welldl g wda sg sy

el glal a1y 4 | Waly (Pd)HL H,g siam

newdl | ud | Na/Hg (i3 i)

Gl g | SllesHl gl wdd siuR

23, wldinou skl dugldl zig uslEs Jikis cnedl 68% cuss JiRis a3 wdla glaepi 8. N giaeleil
acicdl 1.504g mL™! a1, A iRisen sual oitolicll HaRél Sedl &A ?

w68 % sadll HNO, vled,
HNO,; (u2ls 2l)g eq = 68 aun
alagld e = 100 ax
HNO, -l »goiz = 63 wn/a

o 52 = B %
AARD 3 = qal T 1504 sum/Bu
= 66.5 (M. = 0.0665 [aez
Gledr] A%
M =
BRI x 5% ([Uer)
L R 16.23 M
T 63 x0.0665

24,  emll 25% aiavicll 3008 Vol 40% ciavicll enll 400g Fist sdla As alael Gloidarii Jiei. uReridl
glaelcll 0ol 2siaidl ael.
25

100
40

100
ol glaeid (R sul uedl;

gl $d €9 = (75 + 160) = 235 A4
glall g4 e = 300 + 400 = 700 WM

- gldR-1 MU gl sl = x 300 = 75 AMH

GlAR-2 HL glaglr SOl = x 400 = 160 4

|
X
f—
o
o

o 2i[AH glaQHl gleu-u sl %
33.57 %
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100 — 33.57
66.43 %

Aqs ulaél (antifreeze) aiaw 222.6g delldla sarusla (C,Hg0,) dia 200g wweil izt s clonaarii
. giqeidll Nal@l ed. A giqerdll goicr 1.072g mL™! &, dl giqeell NaiRél Sedl ad ?

ilad glaoHi glasn saell %

(i) s Wal@l aiad :

Sellefl oeusiad en = 222.6 W
Selledld csaasiadl Yt = 62 UMHIA
welld e = 0.2 kg

2226 .
m = g5 g = 17.95 Hic/kg

(i) swwerdl HiaRé aiadl :
glagldl su-ddl = 1.072 s/l
Gldllr, 89 = gl S0 + gldlld en

= 222.6 + 200
= 422.6 UM
se - 2 4228 a0 @l - 0.3942 [ex
ydl | 1.072
222.6
M= %0302z — 10

16eeoll (ol €0l Vol owsel [ARudoicll il 2 2R B Vol ABRol [orpiRll adi @cl dial el [Gde
Apix Hell 2isu ud 3dl A ziciffia 8 ?

(2eet ~flaeit wisll o))
FUR glalll Algdidl AHA du sl ulBedl [MHuMd wiad sadl -2l dud Biravued glas s o,

1AL glaBlAL cBUEollR] UGERAL (UM UHIEL MgHIFd $2Al GMECIEL 53l A 2™dl 28 €l 9. o d AU
Gld dl glae i [ eald 8 v o e €l dl, uBeedl Rauel s [Qaaq eadd 9.

4 [duyq :

SLABLT GUNUELUSL

(o I N

g

=

RTk]

2

3

xl =0 H\l@lfbi-‘ll — xl =1
x =1 X = x,=0

«— x2
(a)

uBezt [Fumel bt [Baad-dl slsdsi A-B uizaulis Guisil A-A >890 B-B s3di ool ¢ld . 1 [Baaml
Al AARIHE A A B Al 22l Ya el 53l Ay #0924l s, B ssuesaHl a4l 58 e
He (G2l ultemal.

Belszsl @ ol A S

ga OAAAHD 2P slOf%d oilid ld 9 dAHl EEAA GH AR Al 20 4L 92 dlsAd © Bt
du-l azi-r H ol dldl Al . wzpuls Gar anoll garu dli gan o [@Qaad sald 9. a3 Geiswidl
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CS, i (A2
(2eet ~flaeit wisll o))
FUR glalll Algdidl AHA du sl ulBedl [MHuMd wiad sadl -2l dud Biravued glas s o,

1AL GlABLL GSUELURL ABERAL [AUH UHIEL MU 52Al IBENIRL Sl AL MUAL 21 €ld 9. A d Qe
Sl dl gl q [@add eala 8 wid ol vl €ld dl, UGl Ranel e [Qaaq sala .

4 [duyq :

SLABL SUTMEHLEL

T T~ T

=)

zF

1w

Z

3

xl =0 "ﬁﬁ.’a’i?l — xl =1
x =1 X - x,=0

«— x2
(a)

ABel [Mumell ad [Aadddl eleddl A-B uizulEs Guisil A-A w94l B-B s3di ool eld 9. 20 B
Al AARIHE A A B Al 22l Ya el 53l Ay #0924l s, B ssuesaHl a4l 58 e
i (AUl ulRemal.

Belszel @ SAld A Heid

ga OAAAHD 2P slOf%d oilid ld 9 dAHl EEAA GH AR Al 20 4L 92 dlsAd © Bt
Au-l @Al H ol dldl A 6. weeulls Gay ool garit 48 aan ad Baad eaid . 2 Guuseisi
CS, i (A2

2% voirweila i1 aRiad vdla giaer ArlcA Gesdeilbig 1.004 bar eonel 52 8. gilel WA en
sed & ?

wislly ensigona (pY) = 1.013 ez
glagld, ellMEellsl {pg) = 1.004 ¢z
Sl B0 (w,y) = 2 AN

glasd, YR (M) = 18 W™
glast, e91 (wy) = 98 WM

gldld, £ = 100 UM

2Bezl (s Yoo,

0
Plops _mp Wy My

p° m My ow
1.013 - 1.004 B 2x18
1.013 M, x 98
2 x18

M, = x 1.03 = 41.35 aH/MHia

88 x 0.009
3lcl Uial sl ue2d giaer cod 8. 373 K dmnpiial oiadl uaiél @2sloll ciugcnel dioisA 105.2
kPa 1ol 46.8 kPa 8. 26.0g 8a ia 35g lsdel aiadl Figieici cimeoner s2d ad ?

Al AUYHIR = 100 WHMIA



Miserdl +YHIZ = 114 wHHaA
dnHl Hid = 26 _ 0.26
T 100 7

N N 35
aiserdl Hid = 114 - 0307
. . . 0.26
g2l Hld A = 350 0307 = 0.458
sl Hld 20 = (1 — 0.458) = 0.542
o deAd oseolrl = p0 x Hia wiu (ded)
= 105.2 kPa x 0.458
= 48.18 kPa
o wfisedd susigsal = p¥ x Hia v (lised)
= 46.8 kPa x 0.541
=25.32 kPa
oo (M gd ssucons = 48.18 + 25.32
= 73.54 kPa
29. ol gl (MaR €n 408 mol 1) of €n el ¥ 114 g vils2opii MUNABE 1A, ) GIrUEGHERL
80% ¥2d adl wa ?

wp

0
- PP Mo
0 2

02 =————
40 (w + 40)

w
w + 40
L 02w+ 8 =w
8= wi(l-0.2)
L 8=08w
wow o= 103
30. uisclt 5% giaer (emell)ei srRMGig 271K 8. A 2ws weildd sRIGIE 273.15 K &1, dl weilsi 5%

2dsy €Rladl gldelei sRIGE d1ei.
- ATf ={273.15-271) K=2.15 K

w02 =

. - 5
Ul Mld = —— = 0.0146

342
- _ dols 0.1537 Hl4/k
L m= e = 0. la/kg
ATy 2.15
K; = — = 91 13.99 K kg/mol

- ~ 5
i SYSIPHL HE = 180 ~ 0.0278

0.0278
0.095
ATy = Ky m
=13.99 x 0.2926 = 4.09K
mQAl, 5% ogsipdl qlasld siklEig = (273.15 - 4.09)
= 269.06 K
31. clRell fMevchnicil uieildi vigiRl, Ji2dd: gl Via JldgiRkiad N0l Gididl :

= 0.2926 Hia/kg
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34.

() Boda (i) deyyet (iii) S\Gis dikis (iv) velldlet >cuasia (v) sAAW (vi) As2ella

(i) [Edia : 2ills qa
5120l ¢ Eladi gdla —OH uye 8. 14 —CHy »mely aie 9.
(ii) 2l @ wigled,
$129 : ey A wiydly &,
(iii) siMs 1R : yar
51381 ¢ eldilore oy
(iv) delledl ociusia : Yol
SR8 ¢ el olf
(v) sUS 1 Amy
(vi) Ur2rla : wil@s glod
5180 : —OH u3e Hdly uig widgisiei oo mydly 9.
Adizslet (CgH,;NO,) {Rslcia Wil 8 ¥ [o1aRScll BuldL SeiR¥Mi2ll deti @ziell (symptoms) €2
Sl HIZ duRRL D. ARicA A JMuldl AAIRSlcloll S5 (pi) 1.5 mg 8. Gurelt Sy w2 3 1.5 x 1073
m dla giaer Hee en el
m =15 x 1073
gldd ao+ = 1.5 x 1073 sud »mdl 1.5 mg
glast, A% = (?)
Aelzgl (CoH, NOy) -l 2881z = 311 uy/Mia
Ll Hid

ales 24l (kg)
1.5 x 1073

15x103 = 311
ACENRA

nefddl (m) =

qse £ 1.5 x 1073 . 1
311 x 1.5 x 10~ 311
= 0.0032 kg
= 3.2 aM

JRRs ks, zrRISAA JRIRs JiRis 1 2RISAIA JiRIRS JiRiscl Mol vl (dvol)oll GuAoeil

el 51RIGIE VidoRual (&12151) Gur wvenddl s vadlEa 2D D IsHi Wil

H

H—C-COOH : 2dls »ks

u’

SN . i
Cl—/C—COOH Doelusall Ry
cl

FF>C—COOH D o2luselRl WS

Fl,; ClL, >4 H U4 H 2 el >0l Qgamsedl »4 F 21 A1l ay Qgasadl qud 9. 4l 2 sdid
§AREs RS 2 AAdi]l HY 2044 Y5d 52 8. 2 dy A G 53 8,

We{ldi »iud siedst 000l SIREEHD Adl 4218 3 sg/pudndidl dval Guz sudifRd ¢ ddl 2uda
2ifasdl 2AREs uANdlAL audl s 1A yam 9.

CH,COOH < CClL,COOH < CF,CO0H

293 K aneiial uweilei ciugouer 17.535 mm Hg 8. 293 K amviiedl R 450 g weilti 25 g 2gsly

AdUNAME RN P GINEGHRL d1el.



ol gledr A% (wg) = 25 1M
glast ax-t {w,) = 450 AWM
slet-l AR (Mp) = 180 uH/Hld
dlsdl 2geur (M) = 18 asyHid
p? = 17.535 mm
ps = (%)
P?\ —bs _ Ng
"3 0 -
Pa Npg +1ip
25
17535 - p; 180

17.535 25 L 450

180 18

01389
~ 0.1389 + 25 — 000552

iy ps = 17535 - 0097
= 17.438 mm

35. GloYiel Vi Aol Aeiololl Ayel duon elRMel BueA siavl ciond 8. 300 K dreial s Alodiol
Yial ARYololl GIUEGIRL VioisA 50.71 mm Hg e 32.06 mm Hg 8. A 80 g Alc¥iol el 100 g
Augol Figiel sapi RN &1, dl Alcdiolel o Jazapi Hla i e,

o o[ Diredl MY = 78 WHMEA

AYSrdl MYHR = 92 WH/HIA
. . 80 .
S[Drirl Ha = 8 = 1.026 Mia
N <~ 100 N
LSl Hid = o5, - 0087 Ha
el et o 1.026
el WA 20 = Too6 5 1087 = 0-486
Al Hid vl = 1 — 0.486
=0.514
o glae] ollEed susesua (p, . =0 . x x.
3 p(“GHS) PCeng X *cgHg
= (50.71) x 0.486
= 24.645 mm
sl Aeydng eisieons p o= p x x50
= 32.06 x 0.514
= 16.479 mm
pCGHG

o8, M) oA e 2 = ———
pCGHG + pél@:},‘éd

24.645

24.645 + 16.479
0.599 = 0.6

36.  weii 2gshiclt giael 2 10% w/w 34 dcid adudd 9, dl gideicll ANailGél o €3s @scl WNd
viaw 32 &A ? A awaviell f@otal 1.2 g mL! Qla, d gideedll AR 3edl ad ?

w10 % wiw ¥i2d
ogsind evl = 10 A
glagld £q = 100 aA
glasd €4 = 100 — 10 = 90 uH



= 0.09 kg
sl YMR = 180 wWHANA

sl 01
BYMIR % glds €01
10

= 180 x 0.09 ~ 0617

m =

- Wil ol awddl

- = 10 -
G slondl Hd = 180 = 0.055 Hl4

N 90 .
el Jie = i 5.0 Hia

0.055

SYSBAL M ¥ = —————— = 0.01
3 0.055 + 5.0
- . 5.0
yelldl Hld »lg = ————— = 0.99
0.055 + 5.0
o AR 2l
) 100
glaile 56 = U
Bricll 1.2
ogsind en
M = .
BRI x sl s¢([@er)
10
= ———— = (.67

180 x 0.08333
37. Na,CO4 31l NaHCO; cial uerilol wellaz ol aRiadl 1 g Fisiea iyel ud ulZan s2ar w2 0.1
M HClett Seat mL il «32 usd ?

w  Na,CO; i NaHCO4 el 2aad) :
(Mg e = 1.0 ax
Na,CO; 4 80 = x AH

NaHCO, 4 &4 = (1 — x) A
&L X
Y T 106

. Na,COgt Hld =

N 1-x
. NaHCO,+l Hld= —— wu
84

Na,CO5L Mid = NaHCO5+ Mia
X (1-x)
106 84
L 84x 106 — 106 x
* 190 x = 106
x = 0.558 AlH
s NaHCO5q $4 s = 1 — 0.558 = 0.442
v HCIL -1 gl amddl :
Na,CO; + 2HCl — 2NaCl + H,0 + CO,
. 106 M Na,CO4-il aiyel ulsa w2 73 aud HCl %33l 9.
. 0.558 WM Na,CO, 12 ........ (2

73 % 0.558
106
= 0.384 aH

w  NaHCO,; + HCl — NaCl + H,0 + CO,
. 84 3y NaHCO,; 2 36.5 aud HCl %33l &,




36.5 x 0.442
84
=0.192 ux

 HCld 54 £ = (0.384 + 0.192) = 0.576 AIH

w  Na,CO; i NaHCO4 el 2aad) :
(Mg e = 1.0 ax
Na,CO; 4 8 = x A

NaHCO, 4 e = (1 — x) ™
3 X
YR T 106

. 0.442 W NaHCO, =

" Na,COzt Hid =

N 1-x
. NaHCO,+l Hld= —— wu
84

Na,COyil Mld = NaHCO4 L ¥4

X (1-x)

106 84
w 84x =106 - 106x
L 190 x = 106

x = 0.558 AIH

.. NaHCO51, 54 89 = 1 - 0.558 = 0.442 A4,
m HCl 1 gl saad] :
Na,CO, + 2HCl — 2NaCl + 1,0 + CO,
. 106w Na,CO,l 2iyel ulEa w2 73 ws HCl #3dl .
. 0.558 WM Na,CO, 12 ........ (2

73 x 0.558
106
= 0.384 aH

i NaHCO,4 + HCl — NaCl + H,0 + CO,

. 84 WM NaHCO, H2 36.5 a4 HCl %33l 8.
36.5 x 0.442

84
=0.192 ux

 HCld 54 £ = (0.384 + 0.192) = 0.576 AIH
38. &dlloll [oipci [cidect S Vol doll 52dIs IPIIll VicuMdL (applications) eeud).

. 0.442 W NaHCO, =

o (auue 1A Hisl i)
o Gl el AsuE FEM weg Al 3o dluHit i aydl dietdl siaa-dl quidl ur dal a-u

-

2§05 oAl UHUHRARL SlY &,

sl dleed AR B Wl BUUEL GlafHidL agdl Hia wiadl i dis Gudion sdsoal sdl usi s
GlaRMiAl el Hld 18 glaRl Buzel Ayl »iilEs sole dAxMHILML €y 9.

e A Colmsami aiyd wilis eeumt (p) alamMidl AgHl Ha i () A dHuH@H 9.7
p=Ky-x wul, Ky = edl Rusnl »2aais

gyl difEs esual [Aze Hid wiadl duds eldu dl AqlEl e Haal,

ML UM gEL el UM Ky qedl el el el 9. 2l sdl usid 3 Ky d Ayl asud wR
LTINS

e gl Ky o e dfl dl sttt 22 9. wiell sdl asd 5 il 9l ad Ky 9% 8 i sioudl
52 19,
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I3

I3

I3

I3
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39.

1000

5001

HCI o »{[3s gsu/torr

0 0.010  0.020
HCIHL drl AIA5EE 54 HIL S1H] Hid v

293K A HCL Ayl ausdigsdinul siadl el walbs uReny, 3vudl s gl [Runnl »anis
Ky 9.

(et L3 uiel il
gell AMAL AAE Rud 2o sdl 3 va Al MaAdlEl Ayl glotdl slae-l audl ur ddl aiy-

-

i[5 golE-AL dHUHEAaUl ¢y 8.
AHstdl dleed R 3 ol WA slaRHidl aiyHl Hid adl Hiud dds Gudinl s di sEl usid b

GlARMiAL Ayl Hid 280 4l9l BuzeAl gl 2ilEs onmd AHUHISEL €1y 9.

A Ad “omsaldl aiyd, il eol (p) slARHiAL AgAl A 2 () A AHUHERHD 9.7
p=Kyg-x ou, K= el Rus-l »ais

W oy wils esun [B3e Hd wiasl sidn elds di Al e vasl.

AU Al gEL gEL AR Ky u el gel el €l 8. auell sdl sy 5 Ky wLoAytl w@eus ur

SITIERIND
e gol8l Ky d 4@ 4 dl giendt 82 8. »uell sél asii 5 diumid ai dd Ky 98 8 21 gl

He 9.

1000

5001

HCI o »{[3s gsu/torr

0 0.010  0.020
HCIHL drl AIA5EE 54 HIL S1H] Hid v

293K A HCL Ayl ausdigsdinul siadl el walbs uReny, 3vudl s gl [Runnl »anis
Ky 9.

90 g weilti 30 g vicueila gl @Riadl giaelei 298 K dnedial cirugouer 2.8 kPa 8. i vdi
18 g well cuaepii GAapii i Vol oid ciueoner 298 K darnuia 2.9 kPa 2ri.

sgeiail sA : (i) diuel Har en
(i) 298 K areuiql wweilei cirugociuer



. N 30
i (i} si-l Ha n, = ™M mol

. 90
gias (well)- Wie = n; = — = 5 mol

18
p, = 2.8 kPa
0
pPr-h _ M
po o+ Ho
0 30
pr-28 M
0 30
p]. 5+ M
pl-28 30
pd  5M+30
| 28_ 30
0 5M+30
4
28 30 _5M
p?  BM+30  5M + 30
Pl 5M+30 )
28  5M
w gl 18 i Ay wisll GHzael,
P-p __n i g 018
P o+ hy SRR S ¥ R
p; = 2.9 kPa
0 30
pr-298 _  wm
Q 30
pl 6 + ﬁ
29 30
p)  6M + 30
29 30  _ 8M
p? 6M + 30 6M + 30
()
po_ 6M+ 30 ... (ii)
2.9 6M

. N 30
o (@) sl A ny = mol

. 90
sas (wel) did = nyp = & = 5 mol
p, = 2.8 kPa

P?—PL _

0
24 m +Hs

0 0
pr-28 ™
L 30

0

P S5+ M
P28 30

pd 5M+30

2.8 30
L.
p  5M+30
28 _ 30 _ M
»° 5M + 30 5M + 30

P 5M +30 i
28  5M
el 18 M ay well GHzawell,

1




pL-p ny . 90 + 18 .

= WYl n:—:GHlC'L
p? n + hs » M 18
p; = 2.9 kPa
0 30
pro28 _ wm
0 30
pl 6+ﬁ
29 30
1- 222
,U? 6M + 30
29 30 _ &M
p? 6M + 30  6M + 30

pY 6M + 30
29 6M
40. O awdl A Jial B, AB, dial AB, 21 @Riddl idvell ciclld 8. dua 20g Alodicl (CHp)ui soundi
AB,oll 1g srfGigii 2.3K oll @215l 52 8 AR AB ol 1g 1.3K ol @215 53 8. Gldiciell Mad
Jdoitel RANIS 5.1K kg mol™! 8. A 21 B ot umiedla en 21ed.
1000 x wo x Kj
ABy T ATy x wy
1000 x 1 x 5.1

23 %20
110.87 /e

(1)

v AB, dlg W2 M

1000 x 1 x 5.1
ABg T 13 x20
196.15 H/4d
mgd A A B oAl uzHgedl awadl we,
A dra-l URMIGMIR = X
B dta-dl URHIYMIZ = y
AB, il 2geur = x + 2y = 110.87 (1)
AB, -l 2960 = x + 4y = 196.15 ...{ii)
Al (i) Hiel (@) eus szl
X+ 4y - x - 2y = 196.15 = 110.87
2y = 85.28
sy = 42.64
y Al Bud =l (1) 4i ¥sdl,
X + 2y =110.87
X + 2(42.64) = 110.87
x =85.28
41. <1 10g CH3;CH,CHCICOOH a 250g weilHi Girapii 2ud dl ueiled sRIGig idoiuct 1el.

K, = 1.4 x 1073, K; = 1.86K kg mol1

v AB, dlg W2 M

- gledd A% = 10 M
gl AYHIT = 122.5 A14/Hld
Gl A% /R MIR
alast d%-l (kg)

glagdl Hieuf@dl (m) =

10
T 1225 % 0.25
=0.3264 m
u3»ia-{l CH;CH,CHCICOOH C  CH,CHCICOO™ + H*
Higdl C 0 0

g Aigdl Cll-a) Ca Co



I3

iy

I3

42.

iy

K - C?of _ Ca®

a7 Cl-o) (1-o)

(Me gapl M2 (1 — o) = 1 ddi)
K. =

Co?
K -3

o = #_4 _ & — 0.0655
C 0.3264

diresldy vadd (i)l el
A3»Ad-l CH3;CH,CHCICOOH £ CH4CHCICOO™ + H*

Hid 1 0 0
dgan Hid 1o o a
[l ugdl g sa Hld =1 -o+o+0=1+a
o [BdEH ugl sa e
T T )
1+«
= =1+

1
i =1+ 0.065=1.065

AT¢= i-K;-m

= {1.065) x 1.86K - kg Hida ! x 0.3264 Hia/kg

=0.65 K
19.5 g CH,FCOOH 500g weibi adoucapii ucl 8. weilol sR(Gige dtdoiuet 1.0°C e 9.
SARARIRIRS iRiscll [RNvel JRANIS WA diczdls VidAd el

AT .
P= — wul, ATy = 1°C
Ki-m
K, = 1.86K kg mol!
W o,
. m = Mp x wa Alp =1 Kp-m
19.5 N
= ——————————— = . C
78 x 05 - 0o Haks

1
P (1.86 K kg/Hld) x (0.5 ¥Hid /kg)
a3»a-l CH,FCOOH = CH,FCOO- + H*

= 1.0753

Algdl C 0 0
dgad C{l - o) Co Ca
Algdl :

54 =C(1 -~ o) + Ca + Co
=C-Ca + Co + Co
C(l + o)

== —=l+a

.o=i-1=10753 -1 =10.0753
_ [CHRFCOO™ | [H"]
a [CH,FCOO)
(Co)*
Cll- o)
Co®
l-«a
{(0.5)(0.0753)
1 - 0.0753
0.5 x 0.00567

0.9247
. K. =3.07 x 1073




43, 100g uaél A (e €n 140 g mol 1) 1000g uwél B (a2 €0 180g mol )i aounanii sucd. s
yaiel Bgl; oiryeaiiel 500 torr VeLRL. Ak yaiel Ao\; GIMEGIILL J1eD VA N QICII?IO\i; 5d eolel 475 torr
&1, dl doi glaei cirugcter d1el.

(i) we wadl A sumggouadl il

_Wa 10043 aia
AT M, T o140~
wg 1000 X
He = 2B _ 0 _ 555 4y
BT M, T 180
- + nA
A ML HlE WA = XA =
HA+nB
0.7143
- 01139
0.7143 + 5.55

S Bl via = Xy =1 - X,
=1-0.1139 = 0.8861
ge Udl B o emzout = p = 500 torr
glallr, sd elsdeseL (p) = 475 torr
P=PA-Xp+ PR g
475 = pY x (0.1139) + 500 x (0.8861)
475 = p% x 0.1139 + 443.05
o 475 -443.05 3195

AT 01139 0.1139
— 280.5 22

(i) slaeml A susggouR-ll swadl
Pa = PA-Xy
= 280.5 x 0.1139 = 32.0 22
44, As ARAet A sAAsHou oirueotier 328 K diudiol dieisA 741.8 mm Hg 19 632.8 mm Hg 8.

Al ieeetont 2Ayel dnou elRAel vued cigel oield 8 AH @l Psa> Psaasul Al Py ©l
Xpmaa ©l [GAa (function) als 2uAu &R\ (el YEI-YEL ek W2 vadlEa sl wAbis
Hil3dl 1A wwA 9.

100 X X5 0 11.8 | 234 | 36.0 | 50.8 | 58.2 | 64.5 | 72.1

Paga | mm Hg 0 | 54.9 | 110.1| 202.4 | 322.7 | 405.9 | 454.1 | 521.1

pscha‘ls\v{/mm Hg 632.8 | 548.1 | 469.4 | 359.7 | 257.7 | 193.6 | 161.2 | 120.7

21 Hifddlal A o dudui Wi U2 &Rl dd vued argell @ [GRAde 5 el [Rdd B Aol AAcl s3l.

I3

0o | 0118 | 0234 | 0360 | 0508 | 0582 | 0645 | 0.721
Py | Mm Hg 0 549 | 1101 | 2024 | 3227 | 4059 | 4541 | 5211
Poigget /Mm Hg | 6328 | 5481 | 4694 | 3597 | 257.7 | 1936 | 1612 | 1207
Protal 6328 | 603.0 | 5795 | 5621 | 580.4 | 5995 | 6153 | 641.8

Xfdin
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